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The City School 
Southern Region 

 
Reinforcement Worksheet 

Mathematics 
Class 4 

Topic: Rounding Off, Multiples and Factors 
 
Name: _________________________  Section: _____ Date: __________ 
Time: ___________ 
 

Q1  Encircle the correct option.   

1) Tell the place value of the digit in bold in 423.74 

a) Tens 

b) Hundredth 

c) Tenth 

2) Write as decimal 7 tenth and 2 hundredths. 

a) 7.2 

b) 7.02 

c) 0.72 

3) The sum of 329.4 and 671.74 is? 

a) 1001.14 

b) 1002.4 

c) 1001.11 
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4) 0.03 as fraction can be written as? 

a) 3/10 

b) 3/100 

c) 3 

5) 50/100  is _____________ than 0.5 

a) Greater 

b) Lesser 

c) Equals to 

Q2  State whether the following statements are True or False.  
a) 0.47 is equals to 47/100.  _____________ 

b) 1 tens and 4 hundredths can be written as 10.04. _____________ 

c) Product of 60.9 and 4 is 240.9 _____________ 

Q3 Write vertically and then solve. 

i) 4 + 0.03 + 0.3 + 7.9   ii) 189.0 multiplied by 9.  
 
 
 
 

a) Round off the following numbers to the nearest whole number.  

Number Round off the numbers to the nearest whole number 

8.47  

1078.9  

 
b) Find the product of 198.9 and 7. 

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________ 
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Q4 

a) Find the total of 2 pairs of short for $225.00 each and 12 table tennis balls at 
$9.15 each.  

_____________________________________________________________ 

_____________________________________________________________ 

_____________________________________________________________ 

b) Round off the cost of 12 table tennis balls. 
_____________________________________________________________ 

_____________________________________________________________ 

 
c) Find the amount money the shopkeeper will return him if he pays $700. 
_____________________________________________________________ 

_____________________________________________________________ 

Q5 Simon has bought 10 kgs of rice but when he gets it home and weighs it he finds 
only he has only got 9.83 kg. How much rice is missing? 
_____________________________________________________________ 

_____________________________________________________________ 

Q6 If per kg cost $9 then what is the cost of 10 kg?  

_____________________________________________________________ 

_____________________________________________________________ 

_____________________________________________________________ 

Q7 Convert 9.83 into fraction. 

_____________________________________________________________ 

_____________________________________________________________ 

_____________________________________________________________ 


